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Even though that telling a gentile is violating the (rabbinic)
ordinance to rest, nevertheless because of inhabiting >''X, the 3139
did not decree a prohibition in this instance.

OVERVIEW

Our X3 teaches us that in order to fulfill the mx»n of "X 2w we are
permitted to tell a »3 to do a XN*TIRT 7OK7; in this case 72°n2. Our MHOIN
will be discussing under what circumstances is 2"19¥% 77°nX permitted.
Another issue discussed in mdoIN is the prohibition of 2*¥ w2 7271, From
the X7»3 in 'mman it is apparent that if two figs were needed for a 12 ww 797
7100 and there were two options; either to cut one stem with two figs on it or
to cut a stem with three figs on it, one would have to cut the stem with two
figs on it, otherwise he would be considered 2¥y°wa 7271, which is
prohibited.

= NIPIINT NINDNI 02215 T2I¥Y NN 129901 199910 XY NINNK NINN DIVN YaN
However, on account of another /m%%; not °"X 210, the 2°»o1 would not
permit telling a gentile to perform a Torah forbidden task. mooin derives this
from the fact that the 021 permitted telling the ™o to write the W which is a 72X
XN»7IXT only because it was for a special Mxn, but not for a ‘regular’ Mmxn. If indeed 772X
0"2y% would be permitted for every mxn even by a Rn»7R7 19877, the X713 should have
said VT3 XY ¥ Dpna’ and not 1M &Y MR W DWwn.

moon will now prove this point:
= N29T D0PY INN NN PONYNRT RPN XIND (x,n0 97 pvy) 919 7992 NIINT

As is evident from the X712 in 9777 ?99; which states: ‘There was this baby

whose hot water spilled out, they came before X239 to ask him if they are

permitted to heat more water on n2v -
= TN AN MDY 1199919 NI IN NIIND II9WD 1NY 9IN

X217 answered them: ‘ask the baby’s mother, if she needs any hot water for

'x,70 77.
* This however is not conclusive proof. One may say the opposite. The X3 wanted to inform us that this
case of *"R 2w is also considered a sufficient m¥» for which 2"3¥% 771K is Inn. It would certainly be 2nn
for other n1xn. Therefore NvoIN offers an additional proof.
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herself, we will warm up water for the baby on account of his mother’*>.

This concludes the quote from the &723.

mooIn will proceed now with his proof that mxn 21p»a 2™M>5YH 779K is MOK.
=915 215 MNNY 13598 1PNV NN NN DAY ¥NRIWN NIINIDY

It is seemingly apparent that this story happened on the day when this
baby was to receive his *799 n>12; they needed to heat the water in order’

to circumcise him® -
= Nay 1Yy 1’571‘\}: M9N N3 NN 12991 1990 INNY INT

For if this happened after the baby was 9121, he is considered in danger of
losing his life and without his mother needing hot water, we desecrate the

naw for the baby. We have established that this water was to be heated for a mxn
namely 79°1 Mxn.

mooIn will now prove that the entire discussion there was concerning whether a "1 can
heat the water.
= DNIIN 19929 U929 191 DIVNPI OV YT ONN 29N D310 T2IY 10 U

The discussion there was concerning heating the water through a > as
»"w4 explained there’. There was never any thought that a %X should be
permitted to heat water on n2w for [the mother or for] a n°72, and the n''4

also explains it in the same manner; that it was performed by a * -
- SoowhY 1Y NYAYN NN (x,03p naw) 12391 7991 13299N72
As the X713 says in %192 P9p that a birthing mother; after seven days
from giving birth until thirty days from after giving birth -
= HAYN NN DY PHINM PPN 1IN NN NN 190N
Even if she says I need something which would require naw 71°1 we are
not naw Y»r» for her sake even though she asks for it’. At that time we consider her
not to be in any danger. On the day of the 77 (the eighth day from birth), the mother is
past the seven day limit; how can X297 say that we will heat the water for the child 23X
R? A P8 may not heat the water even for the mother, since she is out of danger.

? The various details of this story will become clearer (!) with the continuation of this n2o1n.

* The X3 does not state so explicitly; mooIn assumes that this is the case. See however later in msoN that

it is not necessarily so.

> It seems that in those days it was standard (medical) procedure to bathe the baby in hot water before the

nA2

% This is to establish that we are discussing a M1 PRI TR9N.

7 In the texts of our M3 in P21V it says explicitly 721", See there the various commentaries and glosses.

¥ We are discussing a n*13, meaning that it was the eighth day after the birth; see later footnote # 14.

’ We may however be naw 2%n» for this woman, who is considered a 71150 712 PRw 7977 if it is done 2"y "y,
2
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Therefore we must say that X271 meant to heat the water for the mother 2"y >"v. The 17 is
that we may be 0"y "y naw %5ma for a 1150 72 PRW 7917; which the mother is considered
to be between 2w nyaw. We have now established that the water was to be heated *"v
0"y for 77 mxn. Nevertheless the only way X271 permitted it was 'K 23x since she
is considered a 150 112 PXRW 7771, He did not permit it for the baby directly even though it
was 112°n mxn T1%%. This concludes the proof that 2™>3y% 771K is prohibited even 7Mx>
mxn. It is permitted only >"X 2> 7%5.

mooIn anticipates a contradiction to the assumption that concerning a 7°n from 7vaw
onwards, the 77 is D2Wn DR 79V 197070 PR
-AYHY 99N (N2 297 N2NIYN) AN 93PN HNOND NN 1Y 123919 9102 9INT XM

And concerning that which the X712 says in the end of %% pa5: ‘Until
when is the womb considered open? *ax (in the name of 77319 39) says

up to three days -

= /9 1Y Y9N /T 9N NN 297 NMIYN NI
And X239 in the name of 5" says up to seven days and others say up to
thirty days. One may think that they are discussing the time we are still permitted to be
naw 5%nn for the °n; namely as long as the 72p is mMno; she is still considered a ni>won.
Therefore according to the "2 77 ™K, we are permitted to be naw 991 up to thirty days.
If we were to assume that X327 agrees'? with the 7% » K, then perhaps he was permitting
even a PR to be MK 2R naw Yonn. There will be no proof then from that X3
concerning ¥ 01Pn2 2"M1OY? 77K, since it was PRI *"y and not 2"y "'y,

mooIN rejects this argument:
= 979 NI NN 99N 9191 RTN 9N 919 NN 1999 99K NaY 1Y Honb XY

They were not discussing and therefore arguing concerning naw %% for
this woman; rather, each one is saying something unique, and there is no

argument -
= DOUHY NYAY /) AN 29INT Y1913 11D X920 1D

And the three of them agree with the 79771 who maintain that a 751 goes

through three stages of recuperation at three, seven, and thirty days
respectively'®. The previous three 'XMnX were each referring to a different stage of her

10 Even though extra water was added for the child, nevertheless (since [adding] is only 712771 M0OK), it is

permitted. This will be discussed later in this m501n.

" The gloss omits this.

2 Even though X2 said *"17 7»w» (only) until '1, nevertheless, we can say that he was merely quoting >3

and not necessarily voicing his own opinion.

" The >y7771 state that concerning a 7n the first three days we are naw 95mn» for her even if she claims she

does not require it, up to seven days we are naw 27nn if she claims she requires it, up to thirty days we are
3
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recuperation, and the different level of naw 277’1 permitted at that time.

mooIn anticipates another challenge to his proof.

= NYY NYN HY 7T PN NN NTY RN 1992 NYY NYNT 9999 PO
And we would be hard pressed to say that we require full twenty four
hour periods in respect to the three, seven, and thirty day ruling and this
story took place within seven full days from the time of birth. Were we to accept
that this is indeed so, then we may argue that X217 permitted the heating of the water for
the mother 9Xw" *"v, for it is possible that a 79°» n°12 take place before seven full days
pass from the time of birth.'* Therefore it would be permitted to heat the water for the
mother %7 *"y if she says *IX 115°7%. This would invalidate NN proof. NMoOIN rejects
this argument by (previously) stating that it is a Pm7 to say that we can be n2w %%n» up to
seven complete days from the time of birth'’. Rather we allow for only seven (regular)
days, no matter when they start. If it is the eighth day for the baby it is the eighth day for
the mother as well.

mooin fends off another possible objection.
= 11992900 TONYINRT NP1 TN D'¥Y 0NN 9MINRT XN

And that which the X713 there in 777 P79 said previously concerning
another child whose hot water spilled out -

- ©22999 7239 1 99 1Y 1) 1195193 931 313900 1199 119993 12T 1Y NN
And 17121 said to them: ‘let them bring hot water for him from my house’

and the X 23 establishes that X217 meant that a 13 should bring the hot water
from his house. X271 and the child lived in the same 2%¥n, however no MI¥n 2171y were
made, thereby carrying from X217 to the baby’s house was prohibited. We see that we
permit ¥ 21pna 0"OYY TN,

Mo0IN answers:
= 11953 798D 129%¥ XUV 9802 Y9V 1297 NNDIN INT

A Rabbinic prohibition is certainly permitted to be transgressed for the
purpose of 7%, through 0™>5v% 772X in a courtyard where an 219° was

not made. Carrying in such a 737 is only an 131297 M0°X, and that is permitted through
a™M>oYY 7R, since it is being done (77°1) M¥n TXL.

naw 59nn only through a »a.
' If the baby was born Sunday late afternoon and the n*72 is performed Sunday morning, seven full days
have not passed yet. See footnote # 8.
' Or perhaps it is a pm7 to say that (in addition [to this novel ruling]) this particular story took place before
seven full days passed. The X3 should have made some mention of it; so as not to mislead us.
' The "2 amends the text to read *Xn°2 as it is written in 2,70 P2Y.
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= MON 0N 1Y DNNY 1D NNIINT 90N AN
However, to transgress a 7m0 prohibition, for instance to heat hot water
for the child; that is prohibited even when asking a " to do the 7x77.

From n90n previous answer it may seem that we may transgress an 11277 M0°X through
™Moy ek if it is men 735, However, mooin will qualify that anon:

= 1919 97 NIV 990 N22NY 052295 T2IYY 9117 995N ININI TNIY PN
One should not derive from the previous X773, permission to tell a " to
bring a 770 scroll on naw, whereby the M3 will be required to pass through

a N oM. Carrying in a n°»73 is only an 73277 Mo°X. The 77N is being carried TM¥Y
mxn, so the people could hear the reading of the 771n. Following the previous discussion
one may surmise that we are permitted to tell the "3 to bring the 7710 even though he is
carrying in a n°°n12. We have just concluded that 0"2¥% 77°mR by a 11277 MOX is
permitted mx¥n 01Pn2. However, N19010 says that it is not so.

= 99NN NAY NINT NN NINT NDMNT DIVN 1T NDT
For they are not alike; we cannot compare the case of 771 to the case of
7N 90, for only by 79, which it (79») itself pushes away "naw, did
they permit mx» opna 0™oy> 7nx. However, other mx» such as 7707 nX™Mp, where
we do not find that it is naw 7m7, therefore 2™>Y7 77 MK is DIPr2 12°5X 1OR these types of
mxn.

In conclusion: Moo is of the opinion that XN»XT *1N0°R2 2"OY? 77°AR is NOX even TNXD
mxn, except for *"'X 2> Mx¥n. However, 2™M5Y% 779K by 13297 *10°KR is Wnm if it is TMx% a
mxn that it itself is naw 7m7 for instance 79°n mxn. However, 711¥% other ni¥n, even
11277 >0°K3, the 77 is that 2"1O¥Y 77K is 0K,

moon will now bring a dissenting opinion
= 99 RININT NNDIN 1DPANT ¥YNRUN M1 M2DN3 119

However it seems from the '*ni9173 n19577 that it is permitted to transgress

even an 790 MON -
= 199 7985 022995 T »1 Y

through a "3, for the purpose of o,
= D290 MY 797 XN 7990 1PDT Y0V

For he interprets what 727 said ‘that they should bring it from the
house’ that means that the "2 should bring the hot water by way of the 2''719.

' One is allowed to be 92 on naw even though he is being XN KT *NO°K 72W.
' The n¥9173 N9 92 is usually identified with either 1IR3 XTI ' or (2U1XXT NOIPNA) RIP AW 227,
"% See footnote # 2.
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Carrying in a 7"77 is an 770 Mo°X and nevertheless the 3712 permits it 22y *"V since it is
7791 MXn TS,

= 2N 119998 N99XY /3 IN NN AN AN 1YY DINI 9INPT XN AT 2ab
According to this view that m¥» Dpna 0™o¥% 70K is 1M even  MDX2
Xn»7R7, then that which X297 said in the case of the other X1°, ‘heat the
water for him on account of his mother’, we will need to establish that it
took place within seven days from the birth (it has nothing to do with
2%991), and she said: ‘I need the hot water’ -
= NV NYYY PHINNY
For we desecrate the n2w on her behalf, even through a Jew, since it is within
the seven days and she says "X 712°7%. If the child would have needed the water for the
21, then according to the 2"n2 we would be permitted to heat the water for the child
directly 2"™>2¥ "y, and X217 would not have said to warm it 72°X 23X. The 1"72 maintains
that 2™>aY% 77K is ¥R XL Mn even by an RNIRT MO°R. The reason X1 said to
warm it through his mother, is because there was no 79» myn involved. This episode

took place during the seven days (after the three days) after birth, wherein if the woman
says "IN 127X we are Naw 99m» (even’') through a 228w .

It seems that according to the 3"773, in the story of MK 23X 7°% 01, the water may have
been heated either through a X or (2°7272) a "3, MoOIN takes issue with the option
(according to the 3"772) that the water was warmed by a 27w for the mother who needed
it, and incidentally given to the child as well.
= DNIYY 2T DY 119D DINT 91D 195 NDT AN
However™ it seems that it is not correct to say that it was warmed for
the child through a Jew -
= (390 97 PPINT RNP PI93 9INRTI JOP DAY MAINY MON NN HINIY? 7 HyT
For it would be prohibited for a Jew to add water for the child, in
addition to the water he is heating for the mother as the X ) says in the

first p=ao of 17w -

%0 This (following) interpretation follows the w17° of the w"X"7 Mo who states explicitly that (according
to the 3"772) it was not 72271 012, See also IR 7"7 2,0 A7 P"2 MOOIN. [Many commentaries (see 3" 0"972),
however, interpret the 3"'712 to mean that it was ;77° 7737 and it was 872 >"3. The 77% n°72 took place 70
v"9yn 't of the 77°%. The 3"'72 accepts the "% pm7)' that mpow refuted earlier (see footmote # 14), to be the
vwo. Their view will be presented in the italicized footnotes.]
't is possible however that the water was actually heated by a "1,
22 If we assume that it was heated by a &, then the 3"72 will not be 131" :07 in P217°Y 'on. See footnote
#7.
¥ [According to the ‘commentaries’ mentioned in footnote # 20, this "\ 78 is coming to refute the 3"712
entirely, since according to these ‘commentaries’ the 3"72 is discussing heating only by a "5872°.]
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= 12%2Ya N2 XNY NI NI2Y 90N Nava NN Yvann
If one cooks for a sick person® on naw, a healthy person is prohibited
from eating any of the leftover food that was cooked on naw; it is a decree
that if he is allowed to eat the leftovers, perhaps he will add extra food for
him®. We see from that X3 that even though we are permitted to cook for the 79
nevertheless it is 10X to add more food to the pot than the 7911 needs. It is also MoK for
the X*12 to eat any of the leftovers. Here also, even though a Xw> may heat water for the
mother because she says °IX 772°7%; however he may only heat sufficient water for her

needs but not for the needs of the baby who is in no 17150.
= 2907 YIYWT RN D291 T2y »1 Yy Yan

However, if it was heated by a %14 (as Md01N interprets it in his explanation)
it is acceptable, for he is permitted to add more for the child®. The 1 may

cook as much as he wishes regardless whether the woman requires the total amount being
heated or not. Therefore it is preferable to interpret the 3"712 that it was heated 3 >"y.

In summation: even according to the 1"72 we need to say that when X237 permitted to
warm the water "X 23X, it was only »21 *"¥ and that is why it was m213% amn for the
child. mooIn also agrees according to his own 70w that it is "3 °"y M2773% M for the
child »°X 238. Otherwise, how did X237 say 2°X 238 2 0W7°1?

moon will now make a possible distinction between the 20’77 of N1vOIN to be 23X 72N
X to the 2071 of the 3712 to be 'K 2K 727,77
= 99U NIN NIINN T9I8D RPIT NIY)I

And perhaps the **»3 is permitted to add water for the child only when it is

necessary for the 77992 n°12, as the episode is according to MmooIn that the water was

needed to perform the 777.
= MA9N7 MON 022915 121 272 HY 1D2AN NN 937 TN DaN

However, for other needs; not for 717°n as the 2"n2 defines the episode, even

* We are discussing a 71120 12 ww 7971 for whom it is permitted to be naw omn.
2 There is a DNWRIT nNPonn concerning '0* Ny w2 72, According to the X"awn (and MoOIMN in X,70 MM
»nw 7"7) it is 11277 MOX. According to the 1"7 it is n"7n MoR.See the following footnote # 26.
%0 See the previous footnote # 25. According to the X"2w" we can say that in this case (772n 7%%) they were
not . The 1" explains that *71m DpP1 it is 273 o if it is done *131 °"y. Therefore he may be 727, [The
3712 may follow either explanation according to the ‘commentaries’.] According to the interpretation
presented herein, however, the 3"72 would seemingly need to follow the explanation of the 1"7, since the
3"712 is not discussing a case of mx» QpPHI.
7 [According to the ‘commentaries’, Mmoo is either qualifying the previous %7 of D"13Y *"y MI7475 W, or
Moo may be justifying the '3, that 72 7137 you may be 727 even 287 "y, The 812 in 2157 which
states M2777 NON is discussing a case of m¥» DP»3 N |
2 [According to the ‘commentaries’, it may even be "8 ™"y. See previous footnote #27.]
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if it 1s performed by a " it is forbidden to add additional work to what was
initially permitted for a sick person®’. The difficulty remains according to the 3"713 as
follows: If it was 7977 TM%? why was it necessary to heat it 7°»R 2aX. If it was not 7137
91 then how do we know that (even) a *1 is permitted to 7OX2%2 7271 in a case where it
is mxn 7MY Kow?

mMooIn quotes some MIMx which seem to contradict the previous conclusion that a HRw»
certainly may not add more (work) than is initially required.

SNV PPINT 15 ONX RIN 1P9)99 19090 DTN 0N KXY (3,85 91 NYAYT 72 P92 INT XM
And concerning that which we learnt in a 772w» in the second P29 of noon
nxs2, ‘a person should not heat water to wash his feet unless the water is
fit for drinking31.’ One may heat water on 210 27 for the purpose of eating ( 931X 771%?
wo1). One may not heat water just for washing one’s feet. If however the water is fit for
drinking we consider it as if he is heating (some of) it for drinking and the remainder will
be for washing. This seems to contradict our previous conclusion that one is permitted to
do nox%7 only to the degree that it is necessary.

An additional seeming contradiction:
= YA NP NYN NNINN (x,0 971 NNAT NI 193 1399IN)

And the Xn»92 also says in 7%°2 ndon, ‘a woman may fill a kettle with
meat -

= HNN NIPNNY NON 19998 NIINY 29 DY 9N
even though she only needs one piece.” Again we see that one may do more
o891 than is needed.

A similar contradictory statement in the same Xn>12:
= AN PHPPY NIN 7298 199XV 29 Yy X 0 YW H%aN 0INNI XINN 199

And similarly the X773 says, a baker may fill a barrel with hot water even

though he only needs one jug for baking. We see that one may add to a permitted
7ox7%. In all theses cases it is a PRI who is being 2>My*wa 7271 and (seemingly) it is not
MXN TN,

mooIn offers one answer for these seemingly contradictory statements.
$MMA9NY 0N 199NN 2V O NNNY DIVN

% Perhaps moo1n does not accept the explanations of the X"2w" and 1" and maintains that since it is 770K to
be 0>11¥°wa 7277 (even 1312777), then this MR extends to 2"2Y7 771K as well, if it is 71%7n 7185 ®HW.
%% This cannot be construed as a refutation of the 3";712. We do not know specifically that *"y 2 wwa 7272
2"1oY is M¥n 7NE RO 0K,
3! This is w"2 nuw. However 7"2 permit it.
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on account of the joy>> of *v""1 the 2"»51 permitted® to add more than is
required for one’s needs™”.

SUMMARY

There is a np17nn between NMHOIN and the 2"n2 if we may be naw 9%mn
through 2"™>5v% 77°nK for the purpose of fulfilling a m¥». MO0 maintains
that only for the mx» of °"X 21W° may we transgress an Xn*7IX7 MO°X through
0"DY% 77%K; not by any other mxn. The 2"n2 is of the opinion that 777K
0"ov% is (72°n) M¥n TNRY IMn even if we transgress an XnN7IRT 0K,
Concerning 2> Mywa 727 according to MoHOIN it is not permitted X "y
(even Mxn 01Pn2), however it is permitted 2"y *"y (if it is MY DPnH).

THINKING IT OVER
Where would there be more reason to be 2 1V°WwW2a 727 °NN: a) a PRIW°
X QPR32 or b) a MXN OPna RO MA?

2 Washing the feet may be considered v"y nmaw. The w"w9 explains that the case of 2N 7w are also
considered v"y nrnw, for they do not have to be concerned on v"y what will be tomorrow.
3 This may be considered m¥n TMX%. [According to the ‘commentaries, this may justify what moomn
previously said that according to the 3'72 one may be 2193 ;727 even 287 "V if it is ¥y TN3%.]
** From these words one may infer that mpon maintains that 2°175°w3 7727 is only an 13277 MOX.
> According to the 1" the fact that w51 723X on v" is a 73 077, it is permissible to be DMy wa 77,
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